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Is this Donna that Donna?



These cats are tied to them
and we may assume...
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There is one Donna.
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There are two Donnas.
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There are multiple worlds,
with early tying. ,‘ A
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There are multiple worlds,
with late tying.




HOW MANY
RELATIONSHIPS
ARE THERE?



6 confused * 0.5
= 3 actual relationships




2 actual + 0.7 + 0.3 confused
= 3 actual relationships ,‘ A
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WHEN REALITY
CATCHES UP...




There is one Donna.
They were not the same!
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There is one Donna.
In fact there are two.
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There is one Donna.
In fact there are two.
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There are two Donnas.
They were the same!
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There are two Donnas.
In fact there is only one.
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There are multiple worlds.
But in reality... ,‘ A
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There are multiple worlds.
If there is one...

revaluate
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There are multiple worlds.
If there are two... ,‘ A
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There are multiple (late) worlds.
But in reality...




There are multiple (late) worlds.
If there is one...

0 revaluate

retract 0

everything



There are multiple (late) worlds.
If there are two...

WE CAN ONLY ASK!
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